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1. A and B are partners sharing profits in the ratio of 3:1. They admit C for 1/4 

share in the future profits. The new profit sharing ratio will be:  

(a) A 9/ 16 , B 3/ 16 , C 4 /16  

b) A 8 /16 , B 4 /16 , C 4 /16  

(c) A 10 /16 , B 2 /16 , C 4 /16  

(d) A 8 /16 , B 9/ 16 , C 10 /16  

2. X and Y share profits in the ratio of 3:2. Z was admitted as a partner who sets 

1/5 share. New profit sharing ratio, if Z acquires 3/20 from X and 1/20 from Y 

would be: 

 (a) 9 : 7 : 4  

(b) 8 : 8 : 4  

(c) 6 : 10 : 4  

(d) 10 : 6 : 4 

 3. A and B share profits and losses in the ratio of 3 : 1, C is admitted into 

partnership for 1/4 share. The sacrificing ratio of A and B is:  

(a) equal 

 (b) 3 : 1  

(c) 2 : 1 

 (d) 3 : 2 



4. At the time of admission of a new partner, general reserve appearing in the old 

balance sheet is transferred to:  

(a) all partner’s capital account  

(b) new partner’s capital account 

 (c) old partner’s capital account  

(d) none of the above.  

5. Asha and Nisha are partner’s sharing profit in the ratio of 2:1. Asha’s son Ashish 

was admitted for 1/4 share of which 1/8 was gifted by Asha to her son. The 

remaining was contributed by Nisha. Goodwill of the firm in valued at Rs. 40,000. 

How much of the goodwill will be credited to the old partner’s capital account.  

(a) Rs. 2,500 each 

 (b) Rs. 5,000 each  

(c) Rs. 20,000 each  

(d) None of the above.  

6. A, B and C are partner’s in a firm. If D is admitted as a new partner: 

 (a) old firm is dissolved  

(b) old firm and old partnership is dissolved 

 (c) old partnership is reconstituted  

(d) None of the above. 

7. On the admission of a new partner increase in the value of assets is debited to:  

(a) Profit and Loss Adjustment account 

 (b) Assets account 

(c) Old partner’s capital account  

(d) None of the above.  

8. At the time of admission of a partner, undistributed profits appearing in the 

balance sheet of the old firm is transferred to the capital account of: 

 (a) old partners in old profit sharing ratio 



 (b) old partners in new profit sharing ratio 

 (c) all the partner in the new profit sharing ratio. 

9. A, B and C are partners sharing profits in 3:2:2 ratio. They admitted D as a new 

partner for 1/5 share which he acquired from A, B and C in 2:2:1 ratio respectively. 

Calculate new profit sharing ratio? 

 (Ans : 61:36:43:35) 

10. 

.  

Ans. Rs 2,80,00 

11. 

 

Ans: 3:1 

12. Ahuja and Barua are partners in a firm sharing profits and losses in the ratio of 

3:2. They decide to admit Chaudhary into partnership for 1/5 share of profits, 

which he acquires equally from Ahuja and Barua. Goodwill is valued at Rs. 

30,000. Chaudhary brings in Rs. 16,000 as his capital but is not in a position to 

bring any amount for goodwill. No goodwill account exists in books of the firm. 

Goodwill account is to be raised at full value. Record the necessary journal entries. 

 



Date                   Particulars                                       L.F.     Debit                   Credit                             

1.                   Bank A/c Dr.                                               16,000  

                                 To Chaudhary’s Capital A/c                                16,000           

                            (Amount brought for capital)  

         2.                Chaudhary’   Current A/c Dr.                     30,000                 

                                         To Ahuja’s Capital A/c                                            18,000  

                                         To Barua’s Capital A/c                                           12,000 

                                (Goodwill credited to sacrificing partner’s accounts) 

13. 

 



 

 

 



 

 



14. 

 



      

              



 

 



 

 


